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= ,581,510
= 203,337
= 474 453
01 Al E& A %52 ,259,300 2,185,788 73,512
O &z 13 2,259,300,000& ,259,300
= ,581,510
= 203,337
= 474 453
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163,630
21,038
49,089

HH A

301 etE2d = 233,757 232,632 1,125
163,630
21,038
49,089

HH A

01 A28 H =62 233,757 232,632 1,125
J=) 233,757,000& 233,757

163,630
21,038
49,089

U AT

o (Xtael S)(24l) 248,710 252,271 23,561

174,097
22,384
52,229

Mo A

301 LEtEHS 248,710 252,271 N 3,561
174,097
22,384
52,229

Mo H

248,710 252,271 A 3,561
<) 248,710,000& 248,710

174,097
22,384
52,229

MW

ZUUsSsE RFA 1,000

,836

A 836

1,000

,836

A 836

1,000

,836

A 836

O ZAsEs 28 sz 1,000, 000& 1,000

MASZOH XEHl L 2 AtHl X (2H) 2,040 335 1,705
1,020
306
714

HH A

307 21201 & 2,040 335 1,705
1,020
306
714

HH A

01 o=4d 7=l 2,040 335 1,705
O e sSac 2,040,000 «1& 2,040
1,020

306
714

HH A

Zofel olZHl XA (=4l) 120,369 135,365 A 14,996

96,295
7,222
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16,852

307 21201 A

MR

120,369
96,295
7,222
16,852

135,365

A 14,996

05 22t & =3

120,369,000& x1&

Mo

120,369

120,369
96,295
7,222
16,852

135,365

A 14,996

U RN

2,000
1,400
180
420

1,000

1,000

wW
<
o
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H
o
oy

U AT

2,000
1,400
180
420

1,000

1,000

1,000,000 x2H

Mo W

2,000

2,000
1,400
180
420

1,000

1,000

LI HusESHHAXHA ()

UL RIY

86,587
60,611

7,793
18,183

57,308

29,279

307 glztol &

Mo

86,587
60,611

7,793
18,183

57,308

29,279

MHlA X
6,587,000

0:
0.
o
i
oo O

HH A

86,587

86,587
60,611

7,793
18,183

57,308

29,279

Mo

54,000

16,200
37,800

54,000

M H

54,000

16,200
37,800

54,000

O MEFMY 2=Hl XA

54,000,000& «14

N

54,000

54,000
16,200

54,000




2H: FoI=XD

HE: HoYE =2XNEN L XL
Sol: MOjO MEOUNXRZ X EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| o 37,800
LYEHR 2B SAHMEAXIE(ZHI) 177,400 70,042 107,358
= 124,180
< 15,966
s 37,254
307 glz2tol & 177,400 70,042 107,358
= 124,180
< 15,966
s 37,254
11T M SXASE EX 177,400 70,042 107,358
O g2 =AEsMHEIAXR
177,400,000& 14 177,400
= 124,180
< 15,966
fia 37,254
HOoHe =KX 3,316,258 3,078,520 237,738
= 1,355,757
< 384,935
s 1,575,566
Zoiel Bx210] X (34l) 3,600 0 3,600
= 2,880
s 720
301 EEH = 3,600 0 3,600
= 2,880
s 720
01 Ml2ZE 6= 3,600 0 3,600
O &opel =217 XI& 3,600,000 » 14 3,600
= 2,880
i 720
Zoogsxa =0 K& (=24l) 1,850,050 1,642,124 207,926
= 1,295,035
< 166,505
e 388,510
307 glz2+ol & 1,850,050 1,642,124 207,926
= 1,295,035
< 166,505
s 388,510
11T MISXASEX 1,850,050 1,642,124 207,926
O Z&=sXg 20 2 (0l E)
1,850,050, 000& 14 1,850,050
= 1,295,035
= 166,505
[ 388,510
ZESEMO ESEX IS0 (=) 23,000 2,586 20,414
= 16,100
< 2,070
s 4,830




SN FUSKD
HE: HoYE =2XNEN L XL
Sl FOHQ =X (B9 ®R)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
307 glz2tol & 23,000 2,586 20,414
= 16,100
< 2,070
s 4,830
11 AISI S XA E = 23,000 2,586 20,414
O SSHMC ESEX JIA20 B (CEH
23,000,000& 23,000
= 16,100
= 2,070
s 4,830
o 42 X 7,320 4,904 2,416
201 €2l 7,320 4,904 2,416
01 At 22/l 6,320 3,320 3,000
O MolSIRAs (+2 X L 0NE) BL+Y
70,0003 x4H #4353 1,120
O ZOHRSX =XEX M=
1,100& *2,00004 2,200
O AZEeIE IAAR oL I M
30,000& 100 3,000
02 3323l 1,000 1,584 A 584
O 2322 ¢ HAM(ILEFIANES & REFR
g s) 1,000,000 1,000
HJOHUESKA & FIALE(ZHI) 41,143 63,540 AN 22,397
< 12,343
[ia 28,800
307 21201 A 41,143 63,540 AN22,397
< 12,343
i 28,800
11T ALS S XA E = 41,143 63,540 N 22,397
O ZoolesKa = =X (0E)
41,143,000 * 14 41,143
< 12,343
s 28,800
ZONOISIIEXN S (ZLHEMBIA)(ZH]) 57,727 120,000 A62,273
= 40,409
= 5,195
s 12,123
307 21201 A 57,727 120,000 AB2,273
= 40,409
< 5,195
[ia 12,123
11T AL SXAEE X 57,727 120,000 AB2,273
O ZiotsS LEMEMEIA HES
57,727,000& x 14! 57,727
= 40,409
< 5,195
[ia 12,123
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AN =S
HE: HoYE =2XNEN L XL
Sl FOHQ =X (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
2L FR2ALTRA(2Y]) 1,904 1,939 A 35
= 1,333
< 171
s 400
307 gl2tol & 1,904 1,939 A35
= 1,333
< 171
s 400
11T M SRAISE EX 1,904 1,939 A 35
O ggEMe LML 03
1,904,000& 14 1,904
= 1,333
S 171
s 400
ZOHI X X2 168,620 173,908 A5,288
307 gl2tol & 128,620 173,908 A 45,288
03 QIZtHNHE2HEHE X 57,000 42,400 14,600
O ZoferHgsl 249l 57,000,000& =14 57,000
11T MISAASEX 71,620 131,508 A 59,888
O ZOHQ & HOAHS woyy 2
6,000,000 14 & 6,000
O B SHANUEY 29
18,000,000 *1J4 2 18,000
O Zoiele & J1g4l FIHE)
3,000,000& 13 3,000
O ZoHe! stots sH &IHE)
3,000,000& 13 3,000
O o JIsdlIts &#IH(E)
2,000,000& 13 2,000
O &= NMEMIUE &HIHE)
1,000,000& *13l 1,000
O Zoel Jizns(IH=E30)
11,000,000 *1JH 2 11,000
O Mo &2 @ el A #IHE)
3,000,000& 13 3,000
O At&ol & dZ el A Z2IHER)
4,000,000& 13 4,000
O &g =0t J184 I (=H23HH)
2,000,000& 13 2,000
O =0tel HeEWs &It 2,000,000& =13l 2,000
O =oOotelthal A5kt £C+ 2,000,000 =100 & 2,000
O dFMe L2088 29
8,120,000 » 10 & 8,120
O ST 24 oy =&
5,000,000 =104 2 5,000
O gxgole g Jga &%)
1,500, 000& * 13| 1,500
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2H: FoI=XD

HE: HoYE =2XNEN L XL
9l ZOHOl = XK CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
402 BI2FX=01 M 40,000 0 40,000
01 2I2E 2 A B (KR ) 40,000 0 40,000
O REFNO L4 0y BES AS WY
40,000,000& = 1CH 40,000
ZOHQ OIEAIE SAX SE+<(2Hl) 7,560 7,560 0
< 3,024
[ia 4,536
307 21201 A 7,560 7,560 0
< 3,024
s 4,536
11 AL S RALEE = 7,560 7,560 0
O HHAANE & SMI SExE
1,080, 000& »7H 7,560
< 3,024
s 4,536
>HSIHH X2 (=Hl) 131,621 131,621 0
< 26,324
[ia 105,297
307 21201 A 131,621 131,621 0
< 26,324
[ia 105,297
11T ALSI S RAEE = 131,621 131,621 0
O =3sts9dHd 24X &
131,621,000 «1JH 2 131,621
< 26,324
s 105,297
NI EOAIE XJAME 22 (<Hl) 53,500 53,500 0
= 11,770
s 41,730
307 21201 A 53,500 53,500 0
< 11,770
[ia 41,730
11T M3 SXAISEEX 53,500 53,500 0
O ZoesHosrI=XNddH 23
53,500,000 104 & 53,500
< 11,770
[ia 41,730
e IR HAIE X (=Hl) 422,796 393,598 29,198
= 89,396
[ia 333,400
307 21201 A 422,796 393,598 29,198
< 89,396
s 333,400
10 ALSISXAIEEE2IHEX 422,796 393,598 29,198
O ZHOHQ HF(ME) Mo AE 29
398, 176,000 * 10 2 398,176
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SN SE5¢
4,040,

14,040,000&

4 A% ZIERS

10,000, 000&

580,000&

M M )

EURLY

EUNE

79,635
318,541

14,040

5,616
8,424

10,000
4,000
6,000

580

145
435

SOl A &XI(=Hl)

Mo

1,860 1,860
558

1,302

M H

1,860 1,

558
1,302

860

O ZOHIDEE2 BH0IIHA AXI(ZH|)
1,860,0002 x 14

M

1,860 1,860

1,860
558
1,302

M H

5,000 5,000
1,500

3,500

307 21201 A

EURLY

5,000 5,000
1,500

3,500

11 AL S XA

HEX
O ZoHe! =0lua

5,000,000 « 104 &

EURE

5,000 5,000

5,000

1,500
3,500

UL

40,000 40,

12,000
28,000

000

307 glztol &

EUNE

40,000 40,000

12,000
28,000

0 12
N
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40,000,000& » 1
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N
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AN =S
Bu: FHo)s 2X5A 2 AW
ool Zojel =X CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
307 glz2tol & 124,931 124,931 0
< 24,986
e 99,945
11T M SXAISE EX 124,931 124,931 0
O AEMO MBOSHAHE 2
124,931,000 *1JH 2 124,931
= 24,986
e 99,945
gAM MIFHZZOBM(NZT2Y) XA(=Hl) 9,000 9,000 0
< 2,700
s 6,300
307 g1+l & 9,000 9,000 0
< 2,700
s 6,300
11T M 2XAISE EX 9,000 9,000 0
O geael MEHZZOH(HEL2L )X
9,000,000& =104 2 9,000
< 2,700
s 6,300
o =AESAE 2 (ZHl) 146,626 142,849 3,777
< 26,393
[ia 120,233
307 gl2tol & 146,626 142,849 3,777
< 26,393
s 120,233
10 AL SXNAIEEE2EHEX 146,626 142,849 3,777
O Zofel =2AESAIE 298 &
146,626,000 1 2 146,626
< 26,393
s 120,233
SSHMI SESSAMEA 220,000 0 220,000
301 EEd = 150,000 0 150,000
01 Ml28E 6= 150,000 0 150,000
O FeHZE 2 HI2CEE S A
5,000,000& x30H 150,000
307 21201 A 70,000 0 70,000
11T A SXAIEE = 70,000 0 70,000
O #O0tot= HOHALY 40,000,000 =10 2 40,000
O MAACH Al el =&
30,000,000 =104 2 30,000
Zofel Lxel M3 793,569 646,792 146,777
= 391,504
< 120,620
s 281,445
Zojor(gerd ) el K& (=2dl) 391,022 331,520 59,502
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L= B
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FoI=X Dt
FHHNE =2NST L X
Zojel Lxtel K2

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 195,511
< 58,653
= 136,858
101 124 dl 385,022 329,358 55,664
= 192,511
< 57,753
s 134,758
0412t Z2XREES 385,022 329,358 55,664
O Zofel(gera)d el X A (=2E)
385,022,000& » 14 385,022
= 192,511
< 57,753
e 134,758
201 L4l 6,000 2,162 3,838
= 3,000
< 900
fia 2,100
01 At 22l 6,000 2,162 3,838
O uUsS2Y, HIRES #2 S 6,000,000 6,000
= 3,000
< 900
[ia 2,100
HoHe(SXE)L el X (=28l) 220,020 192,653 27,367
= 110,010
< 33,003
[ia 77,007
307 21201 A 220,020 192,653 27,367
= 110,010
< 33,003
s 77,007
11T M3 SRASEEX 220,020 192,653 27,367
O Ho(=SXE)LXel Al
220,020,000 = 14 220,020
= 110,010
< 33,003
s 77,007
ZOHCI (Al AN L Rtel K& (=2d]) 118,186 89,305 28,881
= 59,093
< 17,728
[ia 41,365
101 @124l 112,186 88,225 23,961
= 56,093
< 16,828
s 39,265
04 D12t 22 HEE = 112,186 88,225 23,961
O ZOHA(AZER)L X2l K& ()
112,186,000& 1= 112,186
= 56,093
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39,265

M

201 fEt2E | 6,000 1,080 4,920
3,000

900
2,100

MW

01 AFR 22l 6,000 1,080 4,920
O ANRES 78 S 6,000, 000& 6,000
3,000

900
2,100

HH W

ZHOH O (Al 2FZHOH QI OFOFAFIIH A ) D Akl K& (=Hl) 33,612 33,314 298
26,890
2,017
4,705

HH W

307 glztol & 33,612 33,314 298
26,890
2,017
4,705

Mo H

1A SXAIE 2 = 33,612 33,314 298
O ZOHQI(Al2-ZH0H QI QFDFALIIF A ) D K2l Q124 ]
33,612,000& 33,612

26,890
2,017
4,705

HH A

ZHOH O (AI2FZHOH QI OFOFAFIIH A ) Akl K& (=Hl) 30,729 0 30,729
9,219
21,510

Mo

307 21201 A 30,729 0 30,729
9,219
21,510

M

A S XA E = 30,729 0 30,729
O ZOHQI(AI2HZOH QI QDAL D Rtel K&
30,729,000& 30,729

9,219
,510

EUNY
~

& S At2tel 216,036 188,372 27,664
31,431
,540
173,065

Mo R

A& sA ZOUOH K& - 4 (=4l) 59,148 58,086 1,062

29,574
574

MW
R

101 1Al 59,148 58,086 1,062

29,574
29,574

M H

03 RIHAZ 22> 59,148 58,086 1,062
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SN FUSKD
HE: HoYE =2XNEN L XL
&2 HESA2E (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
201 ¢er24| 11,330 0 11,330
< 3,400
s 7,930
01 At 22l 8,330 0 8,330
O 0t HESMUY 2F S
8,330,000& 8,330
= 2,500
s 5,830
03 A2 Z Hl 3,000 0 3,000
O XNSA & =M 0 LHFSAME 29
3,000,000& 3,000
< 900
i 2,100
202 O4dl 3,000 0 3,000
< 900
s 2,100
01 = LH 4 Hi 3,000 0 3,000
O XAESAHESHHI 3,000,000& 3,000
< 900
[ia 2,100
307 21201 A 4,130 0 4,130
< 1,240
[ia 2,890
02 QAFAAFEX 4,130 0 4,130
O Jls8 NEASAMEH X 4,130,000 4,130
S 1,240
s 2,890
JIZZEYW3T 2gHl N (=Hl) 30,000 30,000 0
< 6,000
[ia 24,000
307 gl2tol & 30,000 30,000 0
< 6,000
s 24,000
02 It M AHE L 30,000 30,000 0
O Z&E¥3 294 XNI&  30,000,000& =14 & 30,000
< 6,000
s 24,000
A SAZCIUIOIE el 23,568 23,568 0
101 @124 dl 23,568 23,568 0
03 RIAHAZZ2TE = 23,568 23,568 0
O XEASAZCIUIOIE el
11,783,600& »2H 23,568
HAEE A2 85,000 35,000 50,000
MIISXALE 22 10,000 10,000 0
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SN FUSKD
HE: HoYE =2XNEN L XL
oelr HASE 92 EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
301 LEHZ 10,000 10,000 0
01 MI2ZE+5l= 10,000 10,000 0
O AtSIZXAE =X 22 10,000, 000& 10,000
HE HASFLURAR 25,000 25,000 0
201 L4l 1,000 1,000 0
01 At 22l 1,000 1,000 0
O ZEAZ AEIA HH 500,000& *23] 1,000
301 LA F 24,000 24,000 0
01 AR 2Z A 53 24,000 24,000 0
O E2MNASF0 A2 24,000,000& 24,000
NASE oA HAAY 50,000 0 50,000
301 LEM = 50,000 0 50,000
01 MI2ZE 6= 50,000 0 50,000
O NASS st&4A HAAMY
100,000, 000& *50% 50,000
S =2 2Y 474,460 445,777 28,683
< 5,760
i 468,700
SEMERN22Z XA 460,060 434,857 25,203
307 21201 A 460,060 434,857 25,203
10 ALSISXAIEEE2IHEX 430,060 404,857 25,203
O BEAMI =X 22H(87%) 430,060
— BAR 1A 396,018,000& 396,018
— 28 O & AId 2FHl 34,042,000& 34,042
11T M ZXASE EX 30,000 30,000 0
Oo0lsgee 24 10,000,000 * 104 2 10,000
O ZALO SAIS HHEAY
20,000,000 14 & 20,000
SEASEXNB SN A () 14,400 10,920 3,480
< 5,760
e 8,640
307 glz2+ol & 14,400 10,920 3,480
< 5,760
s 8,640
10 ALSISEXAIEEE2GHEX 14,400 10,920 3,480
O ZESEASSXNE SANL SE€E 14,400
— AL E XA 120,000& = 798 = 12)H& 10,080
< 4,032
e 6,048
— YBFES AL 90,0003 = 4% = 1204 & 4,320
< 1,728
[ia 2,592
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AN =S
HE: HoYE =2XNEN L XL
Sl ASIST 2B #H 29 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
A=K et #F 29 1,628,297 1,686,183 A 57,886
= 573,157
s 533,627
< 90,358
s 431,155
A2l S XA 2 =& 18,000 18,000 0
203 YR =&l 15,000 15,000 0
03 AIMF=XH R =AH| 15,000 15,000 0
O A#Z=AHRZ=ZAH 15,000, 000& 15,000
301 LEXZ 3,000 3,000 0
01 MEIBZE+05l= 3,000 3,000 0
O A2HSs HEXNE & 2432 3,000,000& 3,000
ABIE2@ o148l X (324l) 160,000 163,860 A 3,860
= 160,000
101 @14l 160,000 163,860 A 3,860
= 160,000
04 JI2ZtHZ22HEE = 160,000 163,860 A 3,860
O ASI=223 el 137,562,000& =14 137,562
= 137,562
O I=l 2,622,000 14 2,622
= 2,622
O WSl 19,816,000& =1 19,816
= 19,816
MAE2RRHE 2a3 X 31,680 31,680 0
301 LA F 31,680 31,680 0
0B A =EERABHS 31,680 31,680 0
O M3=2R@ o2t XIS (al)
120,000& »22H » 128 31,680
NEASEHEAM dE2Y 2L XA (<Hl) 39,449 36,648 2,801
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